Installation
Manual

VAUXHALL ASTRA EST
COMPONENTS INCLUDED

VAU-ASTR-E-D

CL-M12x 6 CL-MO3 x 2 CL-M14 x 1

CL-MO02 x 2

PAGE 1 OF 4

www.carshades.com | info@carshades.com



Si d e s h a d e COMPONENTS NEEDED:
Installation

VAUXHALL ASTRA EST
VAU-ASTR-E-D

¢

CL-M12x 2

CL-MO3 x 1

ATTACH CLIPS ON SHADE EDGES

www carchadee com | info@carchadae com PACE?20F A



Quarter Light Shade

Installation
VAUXHALL ASTRA EST
VAU-ASTR-E-D

STEP #1 ATTACH CLIPS ON SHADE EDGES

COMPONENTS NEEDED:

it

CL-MO2 x 1

STEP #2 INSERT CLIPS BEHIND INTERIOR TRIM

v/

.....

wiwwnar ~rarchadae ~oam | infa@carchadace ~am

DPDACE2ANE A



Quarter Light Shade

Installation
VAUXHALL ASTRA EST
VAU-ASTR-E-D

STEP #1 ATTACH CLIPS ON SHADE EDGES

COMPONENTS NEEDED:

it

CL-MO2 x 1

STEP #2 INSERT CLIPS BEHIND INTERIOR TRIM

v/

.....

wiwwnar ~rarchadae ~oam | infa@carchadace ~am

DPDACE2ANE A



